
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

NUOVA SIMONELLI
T1>

Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

3
-0

9
1

6
1

2
2
2

Coffee grinders



GRINDER ASSEMBLY MDS

Positions without LF code no.: upon request

<T1

NUOVA SIMONELLI
T1>



Position LF code no. Description

5 <i1324933 i>SPRING SHAFT SEAT

7 <i1252587 i>CLOSING SECTOR RH

11 <i1252590 i>PIN GUIDE

28 <i1252470 i>COUNTER FOR COFFEE GRINDER/DOSER

35 <i1252582 i>FILTER HOLDER FORK

46 <i1252583 i>ADJUSTMENT RING NUT

49 <i3319019 i>RED BIPOLAR SWITCH 16A 250V

49 <i3319934 i>ORANGE BIPOLAR SWITCH 16A 250V

51 <i1251011 i>GRINDING BURRS ASTRAL-ROSSI (PAIR) LEFT

55 <i1252378 i>THREADED RING NUT 15MCx1

56 <i1250130 i>SEEGER ø 35 mm

58 <i1252376 i>COMPENSATION RING

59 <i3063005 i>BEARING 6202 2RS

62 <i3068019 i>CAPACITOR µF 12.5 450V 50/60Hz

<T1

NUOVA SIMONELLI
T1>



GRINDER ASSEMBLY MDSA

Positions without LF code no.: upon request

<T1

NUOVA SIMONELLI
T1>



Position LF code no. Description

1 <i3240123 i>MICROSWITCH 16A 250V

5 <i1324933 i>SPRING SHAFT SEAT

7 <i1252587 i>CLOSING SECTOR RH

11 <i1252590 i>PIN GUIDE

28 <i1252470 i>COUNTER FOR COFFEE GRINDER/DOSER

35 <i1252582 i>FILTER HOLDER FORK

46 <i1252046 i>MICROSWITCH BOX

49 <i3319019 i>RED BIPOLAR SWITCH 16A 250V

49 <i3319934 i>ORANGE BIPOLAR SWITCH 16A 250V

51 <i1251011 i>GRINDING BURRS ASTRAL-ROSSI (PAIR) LEFT

55 <i1252378 i>THREADED RING NUT 15MCx1

56 <i1250130 i>SEEGER ø 35 mm

58 <i1252376 i>COMPENSATION RING

59 <i3063005 i>BEARING 6202 2RS

76 <i3068019 i>CAPACITOR µF 12.5 450V 50/60Hz

<T1

NUOVA SIMONELLI
T1>



GRINDER ASSEMBLY MDX-MDXA

Positions without LF code no.: upon request

<T1

NUOVA SIMONELLI
T1>



Position LF code no. Description

1 <i1080053 i>COFFEE HOPPER LID ø 180 mm

2 <i1080055 i>COMPLETE HOPPER

3 <i1080058 i>COFFEE HOPPER INNER PROTECTION

5 <i1080059 i>COFFEE CONTAINER CLOSING SHEET

6 <i1251064 i>TOP GRINDING BURRS COVER

7 <i1528100 i>CROSS HEAD SCREW M4x12 UNI 7687

9 <i1251065 i>TOP HOLDER F/GRINDING BURRS 65mm

10 <i1251074 i>GRINDING BURRS EUREKA (PAIR) RIGHT

11 <i3528291 i>CROSS HEAD FLUSH SCREW M4x8 UNI 7688

12 <i1528001 i>SCREW M4x10 UNI 6109

13 <i1528038 i>GRINDING BURRS HOLDER LOCKING NUT

15 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

16 <i1251059 i>GRINDING BURRS BOTTOM HOLDER

19 <i3528112 i>S/S SCREW T.E. M6x16 UNI 5739 DIN 24017

21 <i1162004 i>FILTER HOLDER PLASTIC FORK

26 <i1241113 i>ADJUSTMENT KNOB

33 <i1348813 i>HEXAGONAL NORM.NUT M4 ST.STEEL UNI 5588

35 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

36 <i1250131 i>TIE ROD ADJUSTMENT SPRING ø 10x60 mm

38 <i3068008 i>CAPACITOR µF 5 450V 50/60Hz

40 <i1252385 i>COFFEE COLLECTING TRAY ø 170 mm

41 <i1313005 i>FOOT ø 20 mm

43 <i3319294 i>BLACK BIPOLAR SWITCH 16A 250V

48 <i1252386 i>DOSER LID ø 125 mm

51 <i1252391 i>AUTOMATIC MICROSWITCH BOX

52 <i3240123 i>MICROSWITCH 16A 250V

53 <i1090002 i>DOSER CYLINDER ø 124/116x116 mm

59 <i1343034 i>PLASTIC TOP STAR

62 <i1528631 i>CROSS HEAD SCREW M4x8 UNI 7687

63 <i1343038 i>DIVIDING SHEET

64 <i1343039 i>CENTRAL STAR

65 <i1250132 i>STAR SPRING ø 16x60 mm

66 <i1343040 i>BOTTOM STAR

68 <i1252397 i>DOSER GROUP PIN ø 5x30 mm

69 <i1250087 i>SPRING ø 4.5x12 mm

72 <i3528112 i>S/S SCREW T.E. M6x16 UNI 5739 DIN 24017

73 <i1250134 i>DOSER LEVER RETURN SPRING 8x85 mm

74 <i1385012 i>COFFEE TAMPER ø 56 mm

81 <i1252398 i>COUNTER FOR COFFEE GRINDER  RIGHTHAND

82 <i1250133 i>STAR SPRING ø 36x23 mm

84 <i1252396 i>DOSER GROUP PIN ø 5x18 mm

85 <i1250087 i>SPRING ø 4.5x12 mm

86 <i1528039 i>NUT FOR DOSER GROUP

91 <i1252394 i>DOSER PAWL

92 <i1225024 i>DOSER LEVER

93 <i1252395 i>WASHER FOR DOSER LEVER

94 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

<T1

NUOVA SIMONELLI
T1>



GRINDER ASSEMBLY MDL-MDLCA

Positions without LF code no.: upon request

<T1

NUOVA SIMONELLI
T1>



Position LF code no. Description

1 <i1080057 i>COFFEE HOPPER LID 168x168 mm

2 <i1080058 i>COFFEE HOPPER INNER PROTECTION

3 <i1080054 i>COMPLETE COFFEE HOPPER

4 <i1080059 i>COFFEE CONTAINER CLOSING SHEET

5 <i1528100 i>CROSS HEAD SCREW M4x12 UNI 7687

8 <i1251060 i>GRINDING BURRS EUREKA (PAIR) RIGHT

8 <i1251074 i>GRINDING BURRS EUREKA (PAIR) RIGHT

9 <i1528001 i>SCREW M4x10 UNI 6109

10 <i1528038 i>GRINDING BURRS HOLDER LOCKING NUT

11 <i1528001 i>SCREW M4x10 UNI 6109

12 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

13 <i1251058 i>GRINDING BURRS BOTTOM HOLDER

13 <i1251059 i>GRINDING BURRS BOTTOM HOLDER

16 <i1241113 i>ADJUSTMENT KNOB

20 <i1057008 i>SELECTOR SWITCH 0-1 POSITIONS

21 <i1240040 i>PUSH-BUTTON MICROSWITCH

25 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

26 <i1252389 i>FILTER HOLDER FORK

27 <i3528112 i>S/S SCREW T.E. M6x16 UNI 5739 DIN 24017

32 <i1250131 i>TIE ROD ADJUSTMENT SPRING ø 10x60 mm

33 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

41 <i1252385 i>COFFEE COLLECTING TRAY ø 170 mm

43 <i1252386 i>DOSER LID ø 125 mm

44 <i3240123 i>MICROSWITCH 16A 250V

45 <i1252391 i>AUTOMATIC MICROSWITCH BOX

53 <i1252387 i>DOSER CYLINDER ø 117x91 mm

54 <i1252393 i>DOSER SCRAPER

56 <i1343034 i>PLASTIC TOP STAR

58 <i1528631 i>CROSS HEAD SCREW M4x8 UNI 7687

59 <i1252392 i>DIVIDING SHEET

60 <i1343035 i>ALUMINUM MIDDLE STAR

61 <i1250132 i>STAR SPRING ø 16x60 mm

62 <i1343037 i>ALUMINUM BOTTOM STAR

64 <i1252397 i>DOSER GROUP PIN ø 5x30 mm

65 <i1250087 i>SPRING ø 4.5x12 mm

67 <i1240028 i>MICROSWITCH 6A 250V

70 <i1252390 i>COUNTER FOR COFFEE GRINDER

71 <i1250133 i>STAR SPRING ø 36x23 mm

73 <i1252396 i>DOSER GROUP PIN ø 5x18 mm

74 <i1250087 i>SPRING ø 4.5x12 mm

75 <i1528039 i>NUT FOR DOSER GROUP

78 <i1528009 i>S/S SCREW T.E.M6x12 mm UNI 5739 DIN24017

79 <i1250134 i>DOSER LEVER RETURN SPRING 8x85 mm

80 <i1385012 i>COFFEE TAMPER ø 56 mm

81 <i1252395 i>WASHER FOR DOSER LEVER

82 <i1225023 i>DOSER LEVER

83 <i1252394 i>DOSER PAWL

<T1

NUOVA SIMONELLI
T1>



GRINDER ASSEMBLY MDLCA/C

Positions without LF code no.: upon request

<T1

NUOVA SIMONELLI
T1>



Position LF code no. Description

1 <i1080057 i>COFFEE HOPPER LID 168x168 mm

2 <i1080058 i>COFFEE HOPPER INNER PROTECTION

3 <i1080054 i>COMPLETE COFFEE HOPPER

4 <i1080059 i>COFFEE CONTAINER CLOSING SHEET

5 <i1528100 i>CROSS HEAD SCREW M4x12 UNI 7687

8 <i1251038 i>CONICAL GRINDING BURRS EUREKA (PAIR) RH

16 <i1241113 i>ADJUSTMENT KNOB

20 <i1057008 i>SELECTOR SWITCH 0-1 POSITIONS

21 <i1240040 i>PUSH-BUTTON MICROSWITCH

25 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

26 <i1252389 i>FILTER HOLDER FORK

27 <i3528112 i>S/S SCREW T.E. M6x16 UNI 5739 DIN 24017

32 <i1250131 i>TIE ROD ADJUSTMENT SPRING ø 10x60 mm

33 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

41 <i1252385 i>COFFEE COLLECTING TRAY ø 170 mm

43 <i1252386 i>DOSER LID ø 125 mm

44 <i3240123 i>MICROSWITCH 16A 250V

45 <i1252391 i>AUTOMATIC MICROSWITCH BOX

53 <i1252387 i>DOSER CYLINDER ø 117x91 mm

54 <i1252393 i>DOSER SCRAPER

56 <i1343034 i>PLASTIC TOP STAR

58 <i1528631 i>CROSS HEAD SCREW M4x8 UNI 7687

59 <i1252392 i>DIVIDING SHEET

60 <i1343035 i>ALUMINUM MIDDLE STAR

61 <i1250132 i>STAR SPRING ø 16x60 mm

62 <i1343037 i>ALUMINUM BOTTOM STAR

64 <i1252397 i>DOSER GROUP PIN ø 5x30 mm

65 <i1250087 i>SPRING ø 4.5x12 mm

67 <i1240028 i>MICROSWITCH 6A 250V

70 <i1252390 i>COUNTER FOR COFFEE GRINDER

71 <i1250133 i>STAR SPRING ø 36x23 mm

73 <i1252396 i>DOSER GROUP PIN ø 5x18 mm

74 <i1250087 i>SPRING ø 4.5x12 mm

75 <i1528039 i>NUT FOR DOSER GROUP

78 <i1528009 i>S/S SCREW T.E.M6x12 mm UNI 5739 DIN24017

79 <i1250134 i>DOSER LEVER RETURN SPRING 8x85 mm

80 <i1385012 i>COFFEE TAMPER ø 56 mm

81 <i1252395 i>WASHER FOR DOSER LEVER

82 <i1225023 i>DOSER LEVER

83 <i1252394 i>DOSER PAWL

<T1

NUOVA SIMONELLI
T1>



GRINDER ASSEMBLY MCF

Positions without LF code no.: upon request

<T1

NUOVA SIMONELLI
T1>



Position LF code no. Description

1 <i1080061 i>COFFEE HOPPER LID 107x107 mm

2 <i1080056 i>COFFEE HOPPER

3 <i1080058 i>COFFEE HOPPER INNER PROTECTION

4 <i1080060 i>STAINL.STEEL COFFEE CONT.CLOSING SHEET

5 <i1528100 i>CROSS HEAD SCREW M4x12 UNI 7687

6 <i1528100 i>CROSS HEAD SCREW M4x12 UNI 7687

8 <i1251069 i>GRINDING BURRS EUREKA (PAIR) RIGHT

9 <i1528042 i>SCREW M3x6 WITH CUT HEAD

16 <i3319294 i>BLACK BIPOLAR SWITCH 16A 250V

27 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

32 <i3068014 i>CAPACITOR µF 8 450V 50/60Hz

36 <i1528030 i>ST.STEEL HEXAGONAL NUT M6 UNI 5588

37 <i1090005 i>HOPPER LID ø 95 mm

38 <i1090004 i>DOSER CYLINDER ø 95x60 mm

39 <i3528291 i>CROSS HEAD FLUSH SCREW M4x8 UNI 7688

41 <i1343044 i>TOP STAR

42 <i1343045 i>S/STEEL DIVIDING SHEET

43 <i1343050 i>BOTTOM STAR

45 <i1252399 i>DOSE GROUP PIN ø 4x18 mm

46 <i1250135 i>DOSER CLASP SPRING ø 4x18 mm

49 <i1250136 i>DOSER LEVER RETURN SPRING 4x48 mm

51 <i1225025 i>DOSER LEVER

54 <i1250137 i>STAR SPRING ø 24x24 mm

55 <i1250138 i>PIN SPRING ø 4x12 mm

56 <i1252400 i>DOSE GROUP PIN ø 4x16 mm

57 <i1252402 i>PAWL 5 TEETH

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:

<T2

Bearings
T2>

<|3063005 |> BEAR IN G  6202 2RS <| |>

external ø 35 mm -internal ø 15 mm-thickness 11 mm

    

NUOVA SIMONELLI  15010034 NUOVA SIMONELLI  15100086  

<T2

Bodies
T2>

<|1251064 |> TOP GR IND ING  BU R RS CO VER <| |>

for Grinder-dispenser (EUREKA) LUSSO MDML
 MONDIAL MDMC - MONDIAL MDME  
 for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA  

    

NUOVA SIMONELLI  15050010  

<T2

Capacitors
T2>

<|3068016 |> CAPACITOR  µF  10 450V 50/60Hz <|3068019 |> CAPACITOR  µF  12.5 450V 50/60Hz
operating temperature -25+85°C operating temperature -25+85°C

 in compliance with EEC 93/68 and 92/31 regulations  in compliance with EEC 93/68 and 92/31 regulations

    

NUOVA SIMONELLI  04000043 NUOVA SIMONELLI  15050009  NUOVA SIMONELLI  15010033

<|3068024 |> CAPACITOR  µF  16 450V 50/60Hz <|3068008 |> CAPACITOR  µF  5 450V 50/60Hz
operating temperature -25+85°C operating temperature -25+85°C

 in compliance with EEC 93/68 and 92/31 regulations  in compliance with EEC 93/68 and EEC 92/31 regulat

    

NUOVA SIMONELLI  15050002 NUOVA SIMONELLI  15050023  NUOVA SIMONELLI

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|3068010 |> CAPACITOR  µF  6.3 450V 50/60Hz <|3068014 |> CAPACITOR  µF  8 450V 50/60Hz

operating temperature -25+85°C operating temperature -25+85°C
 in compliance with EEC 93/68 and EEC 92/31 regulat  in compliance with EEC 93/68 and 92/31 regulations

    

NUOVA SIMONELLI  04000010  NUOVA SIMONELLI

<T2

Circlips
T2>

<|1250130 |> SEEG ER  ø 35 m m <|1348817 |> STAINLESS STEEL CIR CLIP RA -4 U NI 7437
for Grinder-dispenser (ROSSI) RR45

    

NUOVA SIMONELLI  15010037  NUOVA SIMONELLI

<T2

Containers for coffee
T2>

<|1080059 |> COF FEE CON TAINER  CLOSIN G SH EET <|1080056 |> COF FEE HO PPER
for Coffee grinder (CASADIO) ISTANTANEO for Grinder-dispenser (EUREKA) MCF

 for Grinder-dispenser (CASADIO) GC98 - G84  for Grinder-dispenser (NUOVA SIMONELLI) MCF
 MOKABIX  
 for Grinder-dispenser (EUREKA) LUSSO MDLC  
 LUSSO MDLCA/C - LUSSO MDLCA65 - LUSSO MDML  
 MDMEA  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C - MDX - MDXA  

    

NUOVA SIMONELLI  15000040  NUOVA SIMONELLI  15800002

<|1080917 |> COF FEE HO PPER <|1080058 |> COF FEE HO PPER  IN NER PR OTECTION
for Grinder-dispenser (BRASILIA) MC - RR45 - RR55

 RR65 - R80  
 for Grinder-dispenser (NUOVA SIMONELLI) MDS - MDSA  
 for Grinder-dispenser (ROSSI) MC - RR45 - RR55  
 RR65 - R80  

    

NUOVA SIMONELLI  15010002  NUOVA SIMONELLI  15050011

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1080053 |> COF FEE HO PPER  LID  ø 180 m m <|1080061 |> COF FEE HO PPER  LID  107x107 m m

for Grinder-dispenser (EUREKA) MONDIAL MDMC for Grinder-dispenser (EUREKA) MCF
 MONDIAL MDME  for Grinder-dispenser (NUOVA RICAMBI) MCF
 for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA  

    

NUOVA SIMONELLI  15000055  NUOVA SIMONELLI  15800001

<|1080057 |> COF FEE HO PPER  LID  168x168 m m <|1080054 |> COM PLETE COF FEE HOP PER
for Grinder-dispenser (EUREKA) LUSSO MDLCA65 for Grinder-dispenser (CASADIO) GC98 - G84

 LUSSO MDLCA75  for Grinder-dispenser (EUREKA) MDLCA/C - MDLCA75
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  for Grinder-dispenser (NUOVA SIMONELLI) MDL
 MDLCA - MDLCA/C  MDLCA - MDLCA/C

    

NUOVA SIMONELLI  15000050  NUOVA SIMONELLI  15000051

<|1080055 |> COM PLETE HOP PER <|1080060 |> STAINL.STEEL COFF EE CONT.CLOSIN G  SH EET
for Grinder-dispenser (EUREKA) MDMCA - MDMEA for Grinder-dispenser (EUREKA) MCF

 for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA  for Grinder-dispenser (NUOVA SIMONELLI) MCF

    

NUOVA SIMONELLI  15000056  NUOVA SIMONELLI  15800042

<T2

Counters
T2>

<|1252390 |> COU N TER FOR  COFF EE G R INDER <|1252398 |> COU N TER FOR  COFF EE G R INDER   R IG HTHAN D
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C for Grinder-dispenser (EUREKA) MDMEA

 LUSSO MDLCA65 - LUSSO MDLCA75 - LUSSO MDML  for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA
 MONDIAL MDMC  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  15000071  NUOVA SIMONELLI  15000031

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1252470 |> COU N TER FOR  COFF EE G R INDER /DOSER <| |>

for Grinder-dispenser (SAN MARCO) SMFK - SMMK
 SM90 - SM91 - SM92 - SM95 - SM96  

    

NUOVA SIMONELLI  15010063  

<T2

Dosers for coffee
T2>

<|1252387 |> DO SER C YLIN DER ø 117x91 m m <|1090002 |> DO SER C YLIN DER ø 124/116x116 m m
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C ø external 124/116 mm - height 116 mm

 LUSSO MDLCA65 - LUSSO MDLC75  for Grinder-dispenser (EUREKA) MDMEA
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  15000036  NUOVA SIMONELLI  15000022

<|1090004 |> DO SER C YLIN DER ø 95x60 m m <|1252386 |> DO SER LID ø  125 m m
for Grinder-dispenser (EUREKA) MCF for Coffee grinder (EUREKA) MDL - MDX - MDXA

 for Grinder-dispenser (NUOVA SIMONELLI) MCF  for Grinder-dispenser (EUREKA) LUSSO MDLCA/C
  LUSSO MDLCA65 - LUSSO MDLCA75 - LUSSO MDML
  MDLCA - MDLCA/C - MONDIAL MDMC - MONDIAL MDME

    

NUOVA SIMONELLI  15800015  NUOVA SIMONELLI  15080005

<|1252393 |> DO SER SCR APER <|1090005 |> HO PPER  LID  ø 95 m m
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C for Grinder-dispenser (EUREKA) MCF

 LUSSO MDLCA65 - LUSSO MDLCA75 - LUSSO MDML  for Grinder-dispenser (NUOVA SIMONELLI) MCF
 MONDIAL MDMC  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  NUOVA SIMONELLI  15800014

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1324933 |> SPRIN G SH AF T SEAT <| |>

    

NUOVA SIMONELLI  15010006  

<T2

Feet
T2>

<|1313005 |> F OOT ø 20 m m <| |>

    

NUOVA SIMONELLI  15050013  

<T2

Forks for portafilter coffee grinder
T2>

<|1252389 |> F ILTER  H OLDER  F ORK <|1252582 |> F ILTER  H OLDER  F ORK
for Grinder-dispenser (ANFIM) LUSSO MDLCA/C for Grinder-dispenser (BRASILIA) RR45 - R80

 LUSSO MDLCA65 - LUSSO MDLC75 - LUSSO MDML  for Grinder-dispenser (NUOVA SIMONELLI) MDS - MDSA
 MONDIAL MDMC  for Grinder-dispenser (ROSSI) RR45 - R80
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  15000009  NUOVA SIMONELLI  15010016

<|1162004 |> F ILTER  H OLDER  PL ASTIC FOR K <| |>

for Grinder-dispenser (EUREKA) MONDIAL MDME
 for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA  

    

NUOVA SIMONELLI  15000057  

<T2

Gaskets and seals
T2>

<|1186397 |> O R ING  G ASKET OR 02300 EPD M <|1186763 |> O-R ING  0171 EPDM

    

NUOVA SIMONELLI  02280033  NUOVA SIMONELLI  40200010

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1186421 |> O-R ING  02018 EPDM <|1186223 |> O-R ING  02056 EPDM

    

NUOVA SIMONELLI  18010555  NUOVA SIMONELLI  0228032

<T2

Gears
T2>

<|1212011 |> PL ANETAR Y G EA R <|1212010 |> R ED U CTION G EAR  F OR CAF FEE GR IND ER
for Grinder-dispenser (BRASILIA) MC for Grinder-dispenser (BRASILIA) MC

 for Grinder-dispenser (ROSSI) MC  for Grinder-dispenser (ROSSI) MC

    

NUOVA SIMONELLI  15020015  NUOVA SIMONELLI  15020013

<T2

Grinders
T2>

<|1251038 |> CON ICAL G R IND IN G  BU R RS EU REKA  (PAIR) RH <|1251076 |> CON ICAL G R IND IN G  BU R RS R OSSI (PAIR ) R H
external ø 68/49 mm - internal ø 45/13 mm external ø 68/49 mm - internal ø 41/13 mm

 thickness 25 mm - 4 fixing holes  thickness 25 mm - 4 mounting holes
 for Grinder-dispenser (EUREKA) LUSSO MDLCA/C  inner groove for feather
 for Grinder-dispenser (NUOVA SIMONELLI) MDLCA/C  for Grinder-dispenser (BRASILIA) MC
  for Grinder-dispenser (CASADIO) GC98
  for Grinder-dispenser (MACAP) M7K - M7KA - M7KT
  for Grinder-dispenser (OBEL) MITOCONIC
  for Grinder-dispenser (ROSSI) MC

    

NUOVA SIMONELLI  15070001  NUOVA SIMONELLI  15020001

<|1251011 |> G RIN DING  B UR R S ASTR AL-R OSSI (PAIR ) LEFT <|1251060 |> G RIN DING  B UR R S EU R EK A (PAIR ) R IG HT
external ø 64 mm - internal ø 38 mm external ø 74 mm - internal ø 38 mm

 thickness 9 mm - 3 fixing holes  thickness 9 mm - 3 mounting holes
 for Grinder-dispenser (BRASILIA) CC45 - RR45  for EUREKA LUSSO MDLCA75-LUSSO MDML
 RR55 - RR65 - R80  for NUOVA SIMONELLI MDL-MDLCA
 for Grinder-dispenser (FIAMMA RST) MCF4 - MCF7  for NUOVA SIMONELLI SUPERAUTOMATICA CAFFETTERIA
 for Grinder-dispenser (NUOVA SIMONELLI) MDS - MDSA  ITALIANA
 for Grinder-dispenser (ROSSI) CC45 - RR45 - RR55  for Grinder-dispenser (EUREKA) LUSSO MDLCA75
 RR65 - R80  LUSSO MDML
  for Grinder-dispenser (NUOVA SIMONELLI) MDL
  MDLCA

    

NUOVA SIMONELLI  15010030  NUOVA SIMONELLI  15080002

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1251069 |> G RIN DING  B UR R S EU R EK A (PAIR ) R IG HT <|1251074 |> G RIN DING  B UR R S EU R EK A (PAIR ) R IG HT

ø external 50 mm - ø internal 30 mm external ø 64 mm - internal ø 38 mm
 thickness 8 mm - 3 mounting holes  thickness 9 mm - 3 mounting holes
 for Grinder-dispenser (EUREKA) MCF  for Grinder-dispenser (EUREKA) MDLCA - MDMCA
 for Grinder-dispenser (NUOVA SIMONELLI) MCF  for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA

    

NUOVA SIMONELLI  15800039 NUOVA SIMONELLI  15800045  NUOVA SIMONELLI  15050001

<T2

Grinding burr holders
T2>

<|1252583 |> AD JU STM EN T RIN G NU T <|1251058 |> G RIN DING  B UR R S BOTTOM  HOLD ER
for Grinder-dispenser (BRASILIA) CC45 - RR55 for Grinder-dispenser (EUREKA) LUSSO MDLC75

 RR65 - R80  LUSSO MDML
 for Grinder-dispenser (NUOVA SIMONELLI) MDS  for Grinder-dispenser (NUOVA SIMONELLI) MDL
 for Grinder-dispenser (ROSSI) CC45 - RR55 - RR65  MDLCA
 R80  

    

NUOVA SIMONELLI  15010028  NUOVA SIMONELLI  15080009

<|1251059 |> G RIN DING  B UR R S BOTTOM  HOLD ER <|1528038 |> G RIN DING  B UR R S HOLD ER  LOCKIN G NU T
for Grinder-dispenser (EUREKA) LUSSO MDLCA65 for Grinder-dispenser (EUREKA) LUSSO MDLCA65

 MONDIAL MDMC - MONDIAL MDME  LUSSO MDLC75 - LUSSO MDML
 for Grinder-dispenser (NUOVA SIMONELLI) MDLCA  for Grinder-dispenser (NUOVA SIMONELLI) MDL
 MDXA  MDLCA - MDX - MDXA

    

NUOVA SIMONELLI  15000043  NUOVA SIMONELLI  15000064

<|1252378 |> THR EAD ED R ING  N U T 15M Cx1 <|1251065 |> TOP HOLD ER  F /G RIN DING  B UR R S 65m m
for Grinder-dispenser (BRASILIA) MAC64 for Grinder-dispenser (EUREKA) MDMCA

 for Grinder-dispenser (NUOVA SIMONELLI) MDS - MDSA  for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA
 for Grinder-dispenser (ROSSI) MAC64 - RR45  
 RR55OD  

    

NUOVA SIMONELLI  15010079  NUOVA SIMONELLI  15000044

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:

<T2

Ironmongery (screws,nuts,washers)
T2>

<|1252376 |> COM PEN SATION  R IN G <|3528291 |> CROSS HEAD  F LU SH  SCR EW  M 4x8 U NI 7688
for Grinder-dispenser (BRASILIA) RR45

 for Grinder-dispenser (ROSSI) RR45  

    

NUOVA SIMONELLI  15010035  NUOVA SIMONELLI

<|1528100 |> CROSS HEAD  SCR EW  M 4x12 U NI 7687 <|1528631 |> CROSS HEAD  SCR EW  M 4x8 U NI 7687

    

NUOVA SIMONELLI  NUOVA SIMONELLI

<|1348813 |> HEX AG ONA L NOR M .NU T M 4 ST.STEEL U NI 5588 <|3528213 |> HEX AG ONA L NOR M A L NU T M 5 UN I 5588

    

NUOVA SIMONELLI  NUOVA SIMONELLI  00000003

<|1528039 |> NU T F OR DOSER GR OU P <|3528112 |> S/S SCR EW  T.E. M 6x16 U N I 5739 DIN 24017

    

NUOVA SIMONELLI  15050017  NUOVA SIMONELLI

<|1528009 |> S/S SCR EW  T.E.M 6x12 m m  U N I 5739 DIN24017 <|1348814 |> S/STEEL COG GED W ASH ER M 4 U NI 8842

    

NUOVA SIMONELLI  NUOVA SIMONELLI  00000011 NUOVA SIMONELLI  18010291

<|1528049 |> S/STEEL SCR EW  T.C.C.E.I. M 4x16 U NI 5931 <|1528627 |> S/STEEL SCR EW  T.S.P.C.E.I.M 8x20 U NI 5933

    

NUOVA SIMONELLI  00000148  NUOVA SIMONELLI

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1528042 |> SCR EW  M 3x6 W ITH  CU T HEAD <|1528001 |> SCR EW  M 4x10 U NI 6109

    

NUOVA SIMONELLI  00000134  NUOVA SIMONELLI

<|1528030 |> ST.STEEL H EX AG ON AL N U T M 6 U NI 5588 <|1186504 |> STAINLESS STEEL W A SH ER  ø 29x10.6x2 m m

    

NUOVA SIMONELLI  NUOVA SIMONELLI  LF-1528010

<|1252395 |> W ASH ER  F OR DOSER LEVER <|1528643 |> W ASTE DR AW ER LOCK IN G  SCR EW  M 6x20 U NI5923

    

NUOVA SIMONELLI  15050019  NUOVA SIMONELLI  00200013

<T2

Knobs
T2>

<|1241113 |> AD JU STM EN T KNOB <| |>

    

NUOVA SIMONELLI  15000042  

<T2

Levers
T2>

<|1225023 |> DO SER LEVER <|1225024 |> DO SER LEVER
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C for Grinder-dispenser (EUREKA) MDMEA

 LUSSO MDLCA65 - LUSSO MDLC75 - LUSSO MDML  for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA
 MONDIAL MDMC  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  15050022  NUOVA SIMONELLI  15000028

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1225025 |> DO SER LEVER <| |>

for Grinder-dispenser (EUREKA) MCF
 for Grinder-dispenser (NUOVA SIMONELLI) MCF  

    

NUOVA SIMONELLI  15800027  

<T2

Microswitches
T2>

<|1252391 |> AUTO M ATIC M ICR OSW ITCH  BOX <|1252046 |> M ICROSW ITCH B OX
without microswitch

 for Grinder-dispenser (EUREKA) LUSSO MDLCA/C  
 LUSSO MDLCA65 - LUSSO MDLCA75 - MONDIAL MDMC  
 MONDIAL MDME  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C - MDX - MDXA  

    

NUOVA SIMONELLI  15050012  NUOVA SIMONELLI  15010094

<|3240123 |> M ICROSW ITCH 16A 250V <|1240028 |> M ICROSW ITCH 6A 250V
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C

  LUSSO MDLCA65 - LUSSO MDLCA75 - LUSSO MDML
  MONDIAL MDMC
  for Grinder-dispenser (NUOVA SIMONELLI) MDL
  MDLCA - MDLCA/C

    

NUOVA SIMONELLI  15000041 NUOVA SIMONELLI  15020003  NUOVA SIMONELLI  15100088

<|1240040 |> PU SH-BU TTO N M ICR OSW ITCH <| |>

for Grinder-dispenser (EUREKA) LUSSO MDLCA/C
 LUSSO MDLCA65 - LUSSO MDLCA75 - LUSSO MDML  
 MONDIAL MDMC  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  15000070  

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:

<T2

Pawls for coffee grinder dosers
T2>

<|1252394 |> DO SER PAW L <|1252402 |> PAW L 5 TEETH
for Grinder-dispenser (EUREKA) MCF

  for Grinder-dispenser (NUOVA SIMONELLI) MCF

    

NUOVA SIMONELLI  15000027  NUOVA SIMONELLI  15800028

<T2

Pins
T2>

<|1252400 |> DO SE G RO UP  PIN ø 4x16 m m <|1252399 |> DO SE G RO UP  PIN ø 4x18 m m

    

NUOVA SIMONELLI  15800021  NUOVA SIMONELLI  15800040

<|1252396 |> DO SER GR OU P P IN  ø 5x18 m m <|1252397 |> DO SER GR OU P P IN  ø 5x30 m m

    

NUOVA SIMONELLI  15050016  NUOVA SIMONELLI  15050015

<T2

Pull-through brushes
T2>

<|1384001 |> BR U SH  F OR COFF EE SH OW ER <| |>

    

NUOVA SIMONELLI  05080012  

<T2

Relays
T2>

<|3351154 |> BASE OC TAL ES8 10A 400V <|3351007 |> M IN I RELAY 55.32 10A 240V 50/60Hz
8 poles 2 switching contacts

  manual push-button
  for PIZZA SHAPER PF45MTE

    

NUOVA SIMONELLI  09000011  NUOVA SIMONELLI  15010055

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|3351032 |> POW ER RELAY 66.82 30A 250V <| |>

for LC80-LC140-LC1000-LC1500-LC1700-LC2000
 LC2300-LC2300TR-LC2600-LC2800  
 for mod. till 06/12  
 for FIORENZATO MC F5-F6  
 for RENEKA VIVAE-VIVAS-VIVA-LC-XL-PLUS-PRESTIGE  
 MOSAIC  
 for NUOVA SIMONELLI APPIACOMPACT  

    

NUOVA SIMONELLI  04200007  

<T2

Remote control switches
T2>

<|3446561 |> CON TACTOR  LOVATO BF 0910A <| |>

coil 9A 230V 50/60Hz 4.2Kw
 3 normally open contacts  
 1 normally open auxiliary contact  

    

NUOVA SIMONELLI  04200019  

<T2

Rotary switches
T2>

<|1057008 |> SELEC TOR SW ITCH 0-1 POSITION S <| |>

for Grinder-dispenser (EUREKA) LUSSO MDLCA/C
 LUSSO MDLCA65 - LUSSO MDLC75 - LUSSO MDML  
 MONDIAL MDMC  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C  

    

NUOVA SIMONELLI  15070003  

<T2

Springs
T2>

<|1250135 |> DO SER CL ASP SPRIN G  ø 4x18 m m <|1250136 |> DO SER LEVER  R ETU RN  SPR IN G  4x48 m m
for EUREKA MCF

  for NUOVA SIMONELLI MCF

    

NUOVA SIMONELLI  15800041  NUOVA SIMONELLI  15800024

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1250134 |> DO SER LEVER  R ETU RN  SPR IN G  8x85 m m <|1250138 |> PIN SP RING  ø 4x12 m m

for EUREKA MDLCA65-MDLCA75-MDLCA/C-MDML
 MONDIAL MDMC-MONDIAL MDME  
 for NUOVA SIMONELLI MDX-MDXA-MDL-MDLCA-MDLCA/C  

    

NUOVA SIMONELLI  15000033  NUOVA SIMONELLI  15800026

<|1250087 |> SPRIN G ø 4.5x12 m m <|1250132 |> STAR  SPRIN G ø 16x60 m m
for EUREKA LUSSO MDLCA65-MDLCA75-LUSSO MDLCA/C

  LUSSO MDML-MONDIAL MDMC-MONDIAL MDME
  for NUOVA SIMONELLI MDX-MDXA-MDL-MDLCA-MDLCA/C

    

NUOVA SIMONELLI  15050014  NUOVA SIMONELLI  15000062

<|1250137 |> STAR  SPRIN G ø 24x24 m m <|1250133 |> STAR  SPRIN G ø 36x23 m m
for EUREKA MCF for EUREKA LUSSO MDLCA65/MDLC75-LUSSO MDLCA/C

 for NUOVA SIMONELLI MCF  LUSSO MDML-MONDIAL MDMC-MONDIAL MDME
  for NUOVA SIMONELLI MDX-MDXA-MDL-MDLCA-MDLCA/C

    

NUOVA SIMONELLI  15800023  NUOVA SIMONELLI  15000060

<|1250131 |> TIE  R OD  ADJU STM EN T SPR ING  ø 10x60 m m <| |>

    

NUOVA SIMONELLI  

<T2

Stars and spare parts
T2>

<|1343037 |> ALU M IN U M  BOTTOM  STAR <|1343035 |> ALU M IN U M  M ID DLE STAR
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C for Grinder-dispenser (EUREKA) LUSSO MDLCA/C

 LUSSO MDLCA65 - LUSSO MDLC75 - LUSSO MDML  LUSSO MDLCA65 - LUSSO MDLC75 - LUSSO MDML
 MONDIAL MDMC  MONDIAL MDMC
 for Grinder-dispenser (NUOVA SIMONELLI) MDLCA  for Grinder-dispenser (NUOVA SIMONELLI) MDL
 MDLCA/C  MDLCA - MDLCA/C

    

NUOVA SIMONELLI  15000073  NUOVA SIMONELLI

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1343040 |> BOTTOM  STAR <|1343050 |> BOTTOM  STAR

for Grinder-dispenser (EUREKA) MDMEA for Grinder-dispenser (EUREKA) MCF
 for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA  for Grinder-dispenser (NUOVA SIMONELLI) MCF

    

NUOVA SIMONELLI  15000025  NUOVA SIMONELLI  15800018

<|1343039 |> CEN TR AL STA R <|1252587 |> CLOSIN G SEC TOR RH
for Grinder-dispenser (EUREKA) MDMEA

 for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA  

    

NUOVA SIMONELLI  15000024  NUOVA SIMONELLI  15010015

<|1252392 |> DIVID IN G  SH EET <|1343038 |> DIVID IN G  SH EET
for Grinder-dispenser (EUREKA) MDMEA

  for Grinder-dispenser (NUOVA SIMONELLI) MDX - MDXA

    

NUOVA SIMONELLI  15000084  NUOVA SIMONELLI  15000023

<|1252590 |> PIN GU ID E <|1343034 |> PL ASTIC TOP  STAR
for Grinder-dispenser (EUREKA) LUSSO MDLCA/C

  LUSSO MDLCA65 - LUSSO MDLC75 - LUSSO MDML
  MONDIAL MDMC - MONDIAL MDME
  for Grinder-dispenser (NUOVA SIMONELLI) MDL
  MDLCA/C - MDX - MDXA

    

NUOVA SIMONELLI  15010085  NUOVA SIMONELLI  15000026

<|1343045 |> S/STEEL DIVIDING  SH EET <|1343044 |> TOP STA R
for Grinder-dispenser (EUREKA) MCF for Grinder-dispenser (EUREKA) MCF

 for Grinder-dispenser (NUOVA SIMONELLI) MCF  for Grinder-dispenser (NUOVA SIMONELLI) MCF

    

NUOVA SIMONELLI  15800017  NUOVA SIMONELLI  15800016

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:

<T2

Switches
T2>

<|3319154 |> BL ACK BIPOL AR  SW ITCH  16A 250V <|3319294 |> BL ACK BIPOL AR  SW ITCH  16A 250V
with push-button cover with red led indicator light

 0-I silk-screen printing  mounting hole 30x22 mm
 max temperature 120°C  
 mounting hole 22x30 mm  
 for Coffee grinder (ASTORIA CMA) K30  

    

NUOVA SIMONELLI  16200027 NUOVA SIMONELLI  16300119  NUOVA SIMONELLI  15000058

<|3319468 |> BL ACK SING LE POLE SW ITCH  16A 250V <|3319934 |> OR ANG E BIPOL AR SW ITCH 16A  250V
silk-screen printing 0 - I with indicator lamp

 max temperature 120°C  0-1 silk-screen printing
 mounting hole 11x30 mm  max temperature 120°C
 for CAB FAST COLD 1-2-3/NEW FABY 1-2-3  mounting hole 22x30 mm
 for COFRIMELL FRIGO DRINK COF-COLDREAM-JETCOF-  
 MEGA25-MEGA40-NEWCOF  

    

NUOVA SIMONELLI  16300121  NUOVA SIMONELLI  15010045

<|3319019 |> R ED  BIPOL AR SW ITCH 16A  250V <|1319160 |> THR EE-POLE LEVER SW ITCH 10A  400V
with indicator lamp for Grinder-dispenser (BRASILIA) R80

 max temperature 120°C  for Grinder-dispenser (CASADIO) GC98 - G84
 mounting hole 22x30 mm  MOKABIX
  for Grinder-dispenser (ROSSI) R80

    

NUOVA SIMONELLI  04200011  NUOVA SIMONELLI

<T2

Tampers for coffee
T2>

<|1385053 |> AN ODISED  ALUM IN U M  TAM PER  ø 58 m m <|1385005 |> BALL ALU M IN UM  TAM PER  ø 57 m m
flat pressing area

    

NUOVA SIMONELLI  NUOVA SIMONELLI

<T1

NUOVA SIMONELLI
T1>



Suitable for: Suitable for:
<|1385012 |> COF FEE TAM PER  ø 56 m m <|1241911 |> COF FEE TAM PER  HA ND LE

    

NUOVA SIMONELLI  15000067  NUOVA SIMONELLI

<|1385002 |> NYLON  CO FF EE TAM PER  ø 50/57 m m <|1324932 |> PIN FOR  M ANU AL COFF EE TAM PER

    

NUOVA SIMONELLI  05080035  NUOVA SIMONELLI

<T2

Terminal blocks
T2>

<|3247016 |> 3-POLE TER M INA L BLOCK F V273 40A 450V <| |>

for cable max 6 mm2
 operating temperature 150°C  
 nominal voltage 450 V  

    

NUOVA SIMONELLI  04000310  

<T2

Trays
T2>

<|1252385 |> COF FEE COLLEC TIN G TRAY ø 170 m m <| |>

for Grinder-dispenser (EUREKA) LUSSO MDLC
 LUSSO MDLCA/C - LUSSO MDLCA65 - LUSSO MDML  
 MONDIAL MDMC - MONDIAL MDME  
 for Grinder-dispenser (NUOVA SIMONELLI) MDL  
 MDLCA - MDLCA/C - MDX - MDXA  

    

NUOVA SIMONELLI  15080038  

<T1

NUOVA SIMONELLI
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

